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QUESTION PAPER (PHASE -1)

ENGLISH (15)

Q1. Pick the adjective in the following sentence:
The Sun is shining brightly in the clear sky.
A. Sun B) clear C) brightly D) shining
Q2. Identify the pronoun in the given sentence:
The teacher asked me to write a story.
A) me B) story C) asked
Q3. Choose the correct verb and complete the given sentence.

Yesterday, | to the park.

A) go B) going C) went D) goes
Directions for (Q4-Q5): Read the passage carefully and answer the given questions:
Once upon a time, there was a small bird named Twinkle. Twinkle loved to sing early in the
morning when the sun was just rising. She would fly high in the sky, greeting the new day with her
beautiful voice. The other animals in the forest admired Twinkle's songs and would often stop to
listen.
Q4. Why did Twinkle sing early in the morning?
A) To wake up the forest animals B) To greet the new day
C) Because she couldn’t sing at any other time D) To find food
QS. How did the other animals feel about Twinkle’s singing?
A) They were annoyed B) They admired it
C) They ignored D) They felt jealous
Q6. Pick an appropriate conjunction:
He reads magazine, he doesn’t like to read books.
A) and B) but C) either




Q7. Which word is a collective noun in the given sentence?
The kid enjoyed seeing the flock of pigeons take off all at once.

A) take off B) pigeons C) flock D) enjoyed
Q8. What is the plural form of ‘cactus’?

A) Cacta B) Cacti C) Cactus' D) Cactae
Q0. Tick the correct synonym of ‘rapid’.

A) Slow B) Fast C) Weak D) Tall
Q10. Choose the correct conjunction for the given sentence:

We missed the train we had to wait for the next one.

A) because B) but C)and D) so
Q11. Tick the correct synonym of ‘cautious’.

A) Careful B) Reckless C) Brave D) Confident
Q12. Fill in the blank with suitable preposition.

Heistravelling _ Europe next month.

A) in B) to C) at
Q13. Choose the correct article for the given sentence:

Heis M. Phil.

A) the B) an C)a D) none of these
Q14. What is the correct homophone for the given sentence?

They visited the where their ancestors were buried.

A) cemetory B) cemetery C) cementery D) semetary
Q15. Identify the type of sentence:

You did a really good job!

A) Optative B) Interrogative C) Imperative D) Exclamatory

MATHS (15)
Q16. All sides of a are equal.

A) square B) rectangle C) triangle D) circle
Q17. What is the shape of a dice?

A) Cube B) cone C) cuboid D) cylindrical
Q18. Write all the capital letters of the English alphabets which have two lines of symmetry.

A)ACand B B)P,Qand S C)H,land X D)S,Yand Z

Q19. Complete the following pattern.
36, 47, 59, 72, 86, 101, :
A) 125,136 B) 112, 125 C) 117,134 D) 119, 126




Q20. How many X 50 notes can I get for X 8650?
A) 165 B) 173 C) 168 D) 161
Q21. If one dozen pencils cost X 156, then the cost of 80 pencils is
A) 21040 B) 2 1560 C) 2 1950 D) % 1250
Q22. A box contains 6 smaller packets of coloured pencils. Each packet has 7 pencils. If Rohan buys 4
such boxes, how many coloured pencils does he have in total?
A) 42 B) 168 C) 28 D) 150
Q23. If multiplicand is 9 and product is 54. What will be the multiplier?
A)7 B)9 C)6 D)5
Q24. By which number you will divide the dividend to have answer 17?
Al B)O C)3 D) number itself
Q25. The number by which we divide the dividend is known as
A) guotient B) divisor C) dividend D) remainder

Q26. The smallest 4-digit number formed using 9, 7, 2, 0 is:
A) 0972 B) 2079 C) 2097 D) 0279

Q27. While comparing numbers, a number having digits is greater.

A) more B) zero C) less D) same
Q28. What should be added to 1145 to get 20007
A) 588 B) 855 C) 850 D) 900
Q 29. 5946 tickets were sold on Friday and 5887 tickets on Saturday. Which option justifies the
statement?
A) 5946 > 5887 B) 5946 = 5887 C) 5946 < 5887 D) can’t say
Q30. Meena went to purchase books and gave following money to the cashier. Four coins of rupees 2,
two notes of rupees 20, three notes of rupees 100. If the price of books were ¥ 326, how much
change will she get back?
A) Z 20 B) 2 22 C) 225 D) 2 28

E.V.S (15)

Q31. Which of the following can living things do?

A) Feel B) Reproduce C) Grow D) All of these
Q32. Which part of a plant is known as the ‘Kitchen of the plant’?

A) Leaves B) Roots C) Stem D) Flower
Q33. Which bird stitches two leaves together with its beak to make a nest?

A) Weaver bird B) Kingfisher C) Tailor bird D) Woodpecker

Q34. Which organ controls the function of the entire body?
A) Brain B) Eardrum C) Eyes D) Kidneys
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Q35. Which of the following components are major nutrients in our food?

A) Carbohydrates B) Proteins

C) Vitamins and Minerals D) All of the above
Q36. I stitch your school uniform. Guess who am 1?

A) Doctor B) Tailor C) Cobbler D) Painter
Q37. Which type of house is usually built as domes with ice and snow?

A) Caravan B) Tent C) Igloo D) Houseboat
Q38. What is the weather condition called, when the air near the ground cools enough to condense

the moisture in the air into water droplets?

A) Hail B) Fog C) Cloud D) Wind
Q39. Which vehicle is used to travel in the space?

A) Helicopter B) Submarine C) Spacecraft D) Ship
Q40. What do plants take in from the air to make food?

A) Oxygen B) Nitrogen C) Carbon dioxide D) Water vapour
Q41. Which instrument is used to measure temperature?

A) Barometer B) Thermometer C) Hygrometer D) Anemometer
Q42. Which season has the shortest days and longest nights?

A) Winter B) Spring C) Summer D) Autumn
Q43. What percentage of the Earth's surface is covered by water?

A) 50% B) 90% C) 71% D) All of these
Q44. What do we call the imaginary line that divides the Earth into two halves?

A) Equator B) Axis C) Pole D) Hemisphere
Q45. Which planet is known as the ‘Red Planet’?

A) Earth B) Jupiter C) Mars D) Venus

G.K (15)

Q46. Who was the first Indian woman to win Miss World contest?

A) Priyanka Chopra B) Diana Hayden C) Reita Faria D) Aishwarya Rai
Q47. Name the first woman of India who became the speaker of Lok Sabha in India.

A) Smt. Sarojini Naidu  B) Smt. Meira Kumar C) Smt. Mamta Banerjee D) Smt. Leila Seth
Q48. What is the full form of a.m.?

A) After the morning  B) ante meridiem C) afternoon D) post meridiem
Q49. Which state of India is known as the ‘Bread Basket of India’?

A) Haryana B) Tamil Nadu C) Uttarakhand D) Punjab
Q50. Which is the largest state of India?

A) Rajasthan B) Uttar Pradesh C) Haryana D) Madhya Pradesh




Q51. What is the capital of Tamil Nadu?

A) Aizawl B) Chennai C) Delhi D) Lucknow
Q52. Who was the first President of India?

A) Dr. Rajendra Prasad B) Pt. Jawaharlal Nehru

C) Zakir Hussain D) Dr. Manmohan Singh
Q53. Which President of India was a renowned scientist and played a major role in India’s space
program?

A) Dr. APJ Abdul Kalam B) Sh. Shankar Dayal Sharma

C) Sh. KR Narayana D) Sh. R. Venkataraman
Q54. Which author has penned Charlotte’'s Web?

A) Tolstoy Adam B) E.B. White

C) William Shakespeare D) Smt. Sudha Murthy
Q55. Which city is known as the City of Pearls’?

A) Kanpur B) Mumbai C) Hyderabad D) Jhansi
Q56. Which is the ‘Garden City’ of India?

A) Mumbai B) Agra C) Lucknow D) Bengaluru
Q57. What was invented by Petrache Poenaru?

A) Table B) Pencil C) Fountain Pen D) Ball pen
Q58. What is the country code TLDs for Armenia?

A) .ai B) .am C) .ar D) .aa
Q59. ¢.bd’ is the country code TLDs of which country?

A) Bangladesh B) Pakistan C) Bulgaria D) Barbados
Q60. What is the national winter sport of Canada?

A. Ice Hockey B) Skiing C) Skating D) Table Tennis




